BRR— FA=ARECRESHFARN
F1H =ZARBHIEX Gy

s I 2k
1. (2022 « TEEM » k) CHIA O KLU EH— K P(—4a,3a)(a>0), N 2sinf+cosf@= )
A 2 ® 2 o imZ (D) FEE
5 5 5 5
EZE: B
RRATT W, |OP|=(-4a)’ +(3a)* =5|a|=5a;
ﬁﬁusin9=3—a=§, cosﬁzﬂz—i Eﬁi2sin9+cos€=%.
e oP|” s 5
2. (2022 « ZHEAEI « %) CHIMA a &30 E— 5 P(m,4)(m #0) E_COS(ZZ?J N tan o =
BE. J_ri
3
AT -
—— m m 2 y 4 4
MR, cosa = =—, f195:. m=13, rlltang=—=+—.
Jm?*+16 5 m 3
3. (k) BHltana=k, Ha@®EFHE =%, N|sina = . (HEFRAD)
wx, K
J1+ K
AT -
*%aﬁfﬁgzgﬂzﬁa Z:gﬁj‘iﬁp(“‘ljyo)a I)_JJJ tan(Z:&:k, ﬁﬁuyoz-k: —EﬁP(—l,_k)r
—fESEY, sing=20 - X% Kk
0P J(-1* + (k) 14K
4. (2022 « IZRMEEDT 15 « Sk ) ORI o MTIEONARFRIR L, 45105 x BIRAET R E S, 5 A(x

B(x,,HEa iU, Hx -x,=1, Mtana= (

(A2 (B) % (C) 2
ZHZE: C

BEE 1

)

(D) —L

2



B, tana=-—, tana=—, BiblE=2, W ox, =2x, RAx,—x, =1°[1F x, =-1, Htang =2 =2

X X, X X X

W 2:

2-4 2

X — Xy X T X

i, BERFtana FTEHEZ 4B FIRER, Al tana =

, Xx,—x,=1, Frlltana =-2.

A
. Y

B
A

> X

0,

5.(2022 o ZREHTHAR kO W, A o BIGIA5S x SR AEA - E S, K0 58RI T 5 A(x, p,) -

2 Y e 2 I I v YA SN T == T > - y Yy
HpL=« +?ﬁ IG5/ o MG ES, HA DS BRAEARE T A B(x,,y,), 8 f(@) =y, —y,, fHa NEA,

W £ (o) FIBETGEZ ¢ )
EVE) 1 3 31 J3 3
(A) (- (B) (—=,= (C) (- (D) (-
(2,,2) (21.2) ( 21,2) ( 21,2)
4
P B
N D
le > X
=%: D
AT
e f M o . . . 27T
FREE X, sina =y, smﬁ=sm(a+?)=y2,
~.. . . 27
FiLL f(a)=y, -y, =sma—sm(a+?)
. . 27 . 27
=sma—(smacos?+cosasm?)
=%sina—§cosa=\/§sin(a—%),
AN a NEf, Fibho<a<Z, Mifi-Z<a-2<Z, Eﬂl-—l<sin(a-—£)<\/§, ﬁﬁw\f(a)e(—\/g,g).
2 6 6 3 2 6 2 2 2

6. (2021 * JL7% « hk k) 1 A(cosO,sin0) KT y iﬁhﬁ’ﬂmﬁ,ﬁﬂw(cos(m%),sin(m%)), B0 i) —

TE Y

gz, % (ERAME—, PEILHD




MBsE 1 M=MEEUE L, 4, Bﬂﬁﬁ%%ﬂ%@%n9+%E@2@1‘2’15E3W q 11

p g
11
IR
[
NS

40 5 9 + %E%I\Hﬂ“, U LOESUT

CyHIXER, TS 040+ D) =70 W1 0="7

k2. =AEEEN, 4, Bﬁﬁﬁﬁ%ﬂ%é%n9+%E@2@1‘2’1—'§'§3WﬁElﬁi“c,#,

mE 1 M2, £

KN A, B W EF

r— |
= 2 o
12 12

£ [0,27)1X

NG

ReeA

-y FXAR, BrLlo Aile +%Wgﬂl1ﬁ9‘éﬂ

S5z .17
:*'Ijil! eﬂﬂi—ﬂ-ﬂ ﬂ-’
12 12

EXTIAME_ 0 27 (R8s, RS LGRIINE, L0 = 51_’2’ gy

=y HHGHFR

77

517 + 2k,
12

-y ﬁﬁu:}zﬂmwﬁ%mmuzﬁgm=?_’2’+kﬁ(kez>_

6 +

7. (2022  BAALEUUARSL « kK ) CHIA o RN E x

0<a<2r, Ma= ( )

(A) 3 (B)
EE: C

A

ﬁﬁUa=§—3+2kﬁ(keZ), b5

=3
2

(C)

A Nsin®3+cos*3=1, FrLLA P EHAL

A sin3 =cos(§—3), cos 3 :sin(%—3), FTLA <

T 3 (D) 3-F
2 2

il

pal

Lsincz =

-

NO<a<2r, Fhblk=1,

r Tx 1Y
6 12
B |
N N
le K |
1\ |
0.7 _ I
6 12
A1 52

AR PR E S, 2900 L — 5 P(sin3,c083), #7

s .
COS =SIn 3

”
GOS8

T

cosa = cos(— — 3)

2 Eﬁzas%-sﬁmﬁla@z@m 1],

T

sin o = sin(— — 3)

2

azs—ﬁ—?a.
2




[

'
<
o
m|;</
|
UL;J
S J



